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BT LRNT—

MBS RBEM=)RHNEREHEME QMBI =/\—Y )L Y —E XA E{E +(3)H1E H IR EE B

+ABFENHEHIEEE = FiA 3.91|M/kWh
(1) AR S 2 B = (R PRRHMliAE —O0F) x E#EE{fi—1,000 = 0.00]F4/kWh
20248 A ~2024FE10 A FHDE S sHmE
A: 1KkIBHT=Y DR R 77,129 © o: 0.0000 HAEE 0.000 [
B: 1tdh1=YDTEHLNGIEE 92,099 M 0.0000
C: tHI-YDTEHRRME 22,606 M Y 0.0000
EHREMER = Axa +Bx B8 +Vxy =0H (100K BEERA)
Q) BEI-N—Y LY —ERFEE M= (B S FHREHEE —0M) x B4E M +1,000 = 0.00]F/kWh
20248 A ~2024FE 10 A FHDE S sHmE
A: 1KkIBH =Y DR R 77,129 © 0.0000 HAEE 0.000 [
B: 1tdh1=YDTEHLNGIHmE 92,099 M 0.0000
C: 1tHI-YDTEHRRME 22,606 M Y 0.0000
HELHBRE@EKR=AXxa +BXxB8 +Vxr=0H (100K BEERA)
Q) HENFAREM=A<BOEE. HEHFAREM=(A—B)XDXx(1+HE&EHRE) = 0.00]F/kWh
A>CODIGE ., ENRABEM=(A—C)xDx(1+HERZEK) 3.91|M/kWh
A: BTADIVTISARFEHE-(1-1843H) x HER 16.05 MADIN7ZISAREYIE 13.44
B: EJTIAEREEEM (Fiik) 8.50 BEkE 7.9%
C: BMFHEEAEEM (Fik) 12.50 SRR 110%
D: #EEE 100%
4) REHEAIREE 0.00|F9/kWh
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BT LRNT—

MBS RBEM=)RHNEREHEME QMBI =/\—Y )L Y —E XA E{E +(3)H1E H IR EE B

+ABFENHEHIEEE = FiA 7.86 |/kWh
(1) AR S 2 B = (R PRRHMliAE —O0F) x E#EE{fi—1,000 = 0.00]F4/kWh
20248 A ~2024FE10 A FHDE S sHmE
A: 1KkIBHT=Y DR R 77,129 © o: 0.0000 HAEE 0.000 [
B: 1tdh1=YDTEHLNGIEE 92,099 M 0.0000
C: tHI-YDTEHRRME 22,606 M Y 0.0000
EHREMER = Axa +Bx B8 +Vxy =0H (100K BEERA)
Q) BEI-N—Y LY —ERFEE M= (B S FHREHEE —0M) x B4E M +1,000 = 0.00]F/kWh
20248 A ~2024FE 10 A FHDE S sHmE
A: 1KkIBH =Y DR R 77,129 © 0.0000 HAEE 0.000 [
B: 1tdh1=YDTEHLNGIHmE 92,099 M 0.0000
C: 1tHI-YDTEHRRME 22,606 M Y 0.0000
HELHBRE@EKR=AXxa +BXxB8 +Vxr=0H (100K BEERA)
Q) HENFAREM=A<BOEE. HEHFAREM=(A—B)XDXx(1+HE&EHRE) = 0.00]F/kWh
A>CODIGE ., ENRABEM=(A—C)xDx(1+HERZEK) 7.86]M/kWh
A: BTADIVTISARFEHE-(1-1843H) x HER 15.15 MADIN7ZISAREYIE 12.60
B: EJTIAEREEEM (Fiik) 400 BEkE 8.5%
C: BMFHEEAEEM (Fik) 8.00 SRR 110%
D: #EEE 100%
4) REHEAIREE 0.00|F9/kWh

Uk




RRENTUTEE]

SUTNTSODEESE
20255 1A% MBEEFREE@OSHMSE

TRIEEINOEEEBY . EHALBLETET,

BADBIHEICSFTNIRHMEFHBEME. TELOBYSHSELET.

BT LRNT—

MBS RBEM=)RHNEREHEME QMBI =/\—Y )L Y —E XA E{E +(3)H1E H IR EE B

+ABFENHEHIEEE = FiA 7.09 | /kWh
(1) A% 2 3 22 B i = (SE R FHliAE —O0F) x ZE#E B i —1,000 0.00]F4/kWh
20248 A ~2024FE10 A FHDE S sHmE
A: 1KkIBHT=Y DR R 77,129 © o: 0.0000 HAEE 0.000 [
B: 1tdh1=YDTEHLNGIEE 92,099 M 0.0000
C: tHI-YDTEHRRME 22,606 M Y 0.0000
EHREMER = Axa +Bx B8 +Vxy =0H (100K BEERA)
Q) BEI-N—Y LY —ERFEE M= (B S FHREHEE —0M) x B4E M +1,000 = 0.00]F/kWh
20248 A ~2024FE 10 A FHDE S sHmE
A: 1KkIBH =Y DR R 77,129 © 0.0000 HAEE 0.000 [
B: 1tdh1=YDTEHLNGIHmE 92,099 M 0.0000
C: 1tHI-YDTEHRRME 22,606 M Y 0.0000
HELHBRE@EKR=AXxa +BXxB8 +Vxr=0H (100K BEERA)
Q) HENFAREM=A<BOEE. HEHFAREM=(A—B)XDXx(1+HE&EHRE) = 0.00]F/kWh
A>CODIGE ., ENRABEM=(A—C)xDx(1+HERZEK) 7.09|M/kWh
A: BTADIVTISARFEHE-(1-1843H) x HER 16.45 MADIN7ZISAREYIE 13.92
B: EJTIAEREEEM (Fiik) 6.00 BxE 6.9%
C: BMFHEEAEEM (Fik) 10.00 SRR 110%
D: #EEE 100%
4) REHEAIREE 0.00|F9/kWh

Uk
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DBEYEBHSELET

FIrcImiz

BT LRNT—

MBS RBEM=)RHNEREHEME QMBI =/\—Y )L Y —E XA E{E +(3)H1E H IR EE B

F/kWh

0.00

F/kWh

EAE B

0.000 M

+HERENHEHIBEE = Fiid
(1) BRHER B = (FHRBHEE —0M) x EAEE(Hi 1,000
202448 F ~2024F 10 A FH D E B sHil+E
A: 1KY O FH R im g 77,129 M o: 0.0000
B: 1t&H =Y DT HLNGIEE 92,099 M 0.0000
C: 1tH1=Y DA Fifhits 22,606 A Y 0.0000
EHREHEE = Axa +BxB +Vxy =0H (100K EFE R A)

() BEEI=N\—Y)L Y —E RFABE il = (B ST 198l 1% —0F) x E4EHi {1,000

20248 A ~2024FE 10 A FHDE S sHmE

0.00

FM/kWh

EAE B

0.000 M

A: 1KY O FH R im g 77,129 M 0.0000
B: 1t&H =YD FHLNGIEE 92,099 M 0.0000
C: 1td1=Y DFEH A R 22,606 M Y 0.0000
ST RFMER=AXxa +BXB +VXy=0H (100K EFE R A)

Q) HENFARZREM=A<BDEE. HEHFAREM=(A—B) XD x(1+HE&FZHK)
A>CODIGE ., ENRABEM=(A—C)xDx(1+HERZEK)

0.00

8.10

A: BTADIVTISARFEHE-(1-1843H) x HER 16.36
B: ZEITiAEEEEM (Fiik) 5.00
C: BMFHEEAEEM (Fik) 9.00
D: #EEE 100%
4) REHEAIREE

MADIN7ZISAREYIE

BxE

3z

Ex

FM/kWh
FM/kWh

13.82

7.1%

110%

0.00

F/kWh
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cu

MBS RBEM=)RHNEREHEME QMBI =/\—Y )L Y —E XA E{E +(3)H1E H IR EE B

+ABFENHEHIEEE = FiA 7.83|M/kWh
(1) AR S 2 B = (R PRRHMliAE —O0F) x E#EE{fi—1,000 = 0.00]F4/kWh
20248 A ~2024FE10 A FHDE S sHmE
A: 1KkIBHT=Y DR R 77,129 © o: 0.0000 HAEE 0.000 [
B: 1tdh1=YDTEHLNGIEE 92,099 M B: 0.0000
C: tHI-YDTEHRRME 22,606 M Y 0.0000
EHREMER = Axa +Bx B8 +Vxy =0H (100K BEERA)
Q) BEI-N—Y LY —ERFEE M= (B S FHREHEE —0M) x B4E M +1,000 = 0.00]F/kWh
20248 A ~2024FE 10 A FHDE S sHmE
A: 1KkIBH =Y DR R 77,129 © o: 0.0000 HAEE 0.000 [
B: 1tdh1=YDTEHLNGIHmE 92,099 M B: 0.0000
C: 1tHI-YDTEHRRME 22,606 M Y 0.0000
HELHBRE@EKR=AXxa +BXxB8 +Vxr=0H (100K BEERA)
Q) HENFAREM=A<BOEE. HEHFAREM=(A—B)XDXx(1+HE&EHRE) = 0.00]F/kWh
A>CODIGE . IEHFAREMm=(A—C)XDx(1+HEHRE) = 7.83|MH/kWh
A: BTADIVTISARFEHE-(1-1843H) x HER 14.11 BADOIYTTSAREYIE 11.83
B: EJTIAEREEEM (Fiik) 3.00 BEkE 7.8%
C: BMFHEEAEEM (Fik) 7.00 SRR 110%
D: #EEE 100%
4) REHEAIREE 0.00|F9/kWh

Uk
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cu

MM EEREREM=)RHERBEH QS L=/ \— LY —EXFAREM+Q)EEHAREM

+NBFENHEEEEE= YD 15kWhET Biaa 108.75 A
Lt A 7.25 M /kWh
(1) R E Rl = (EBREMEE —0M) x EEEEH 1,000 = BN 15kWhET 0.00]M
202448 A ~2024F 10 £ D E 5K EHEHE LEE LS 0.00]F4/kWh
A: 1kIHT=Y O F R ih il 77,129 A o 0.0000
B: 1tH1=YDTFHLNGIEE 92,099 [ B: 0.0000 ~ 15kWhEL 25 B {ff 0.000 M
C: 1tHT=YDEHE &M 22,606 M Y- 0.0000 16kWh ~ L £ B {ff 0.000
EHMREMER = Axa +BxB8 +Vxy =0H (100 REEEHA)
QBEI-_/N\—Y LY —ERFEETE= Gt ST HREHEE —0M) x HZEB{H 1,000 = 0.00JF4/kWh
202448 F ~20244 10 A LD E S #FEHEE
A: kB T=Y DR mmE 77,129 H a: 0.0000 HAEBR 0.000 M
B: 1tH-YDTEHLNGIEE 92,099 M B: 0.0000
C: 1tHf=Y DEH A RME 22,606 M Y 0.0000
EHETHREMEK=AXao +BX 8 +VXxy=0H (100 KEM@IER A)
Q) HNEHAREM=A<BDIGE. HEHFAZEM=(A—B)XDX(1+HERE) = 0.00JF9/kWh
A>COIGE. HENRABEM=(A—C)XDx(1+HERE) = 7.25]F/kWh
A: BTADIYTTSAREHE-(1-18KFE) x FEER 14.09 MADIYTTSAREY(E 11.81
B: EITIAEEAEEE (Fiik) 3.50 P 7.8%
C: BIMFAEEEBH (Fiik) 7.50 REER 110%
D: BEIE 100%
@) FENHEEIBEE 0.00]F1/kWh
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BT Y LR/IRT—

MM EEREREM=)RHERBEH QS L=/ \— LY —EXFAREM+Q)EEHAREM

+NBFENHEEEEE= YD 15kWhET Biaa 116.40 A
Lt A 7.76 M /kWh
(1) R E Rl = (EBREMEE —0M) x EEEEH 1,000 = BN 15kWhET 0.00]M
202448 A ~2024F 10 £ D E 5K EHEHE LEE LS 0.00]F4/kWh
A: 1kIHT=Y O F R ih il 77,129 A 0.0000
B: 1tH1=YDTFHLNGIEE 92,099 M 0.0000 ~ 15kWhEL 25 B {ff 0.000 M
C: 1tHT=YDEHE &M 22,606 M Ve 0.0000 16kWh ~ L £ B {ff 0.000
EHMREMER = Axa +BxB8 +Vxy =0H (100 REEEHA)
Q) BEI—/N\—Y LY —E RFEEIE= Bt & TR EHEE —0M) x EZEB{fi < 1,000 0.00} M /kWh
202448 F ~20244 10 A LD E S #FEHEE
A: kB T=Y DR mmE 77,129 H 0.0000 HAEBR 0.000 M
B: 1tH-YDTEHLNGIEE 92,099 M 0.0000
C: 1tHf=Y DEH A RME 22,606 M e 0.0000
EHETHREMEK=AXao +BX 8 +VXxy=0H (100 KEM@IER A)
Q) HNEHAREM=A<BDIGE. HEHFAZEM=(A—B)XDX(1+HERE) = 0.00JF9/kWh
A>COIGE. HENRABEM=(A—C)XDx(1+HERE) = 7.76] 1 /kWh
A: BTADIYTTSAREHE-(1-18KFE) x FEER 14.05 MADIYTTSAREY(E 11.79
B: EITIAEEAEEE (Fiik) 3.00 P 7.7%
C: BIMFAEEEBH (Fiik) 7.00 REER 110%
D: BEIE 100%
@) FENHEEIBEE 0.00]F1/kWh

ULt
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FICITS

BT Y LR/IRT—

MM EEREREM=)RHERBEH QS L=/ \— LY —EXFAREM+Q)EEHAREM

+NBFENHEEEEE= ZYD15kWhET BN 39.93 M
Lt A 3.63 M /kWh
(1) AR E R E M= (FtOMEHE4E —0M) x B#EBHi+1,000 = BHUDKWhET 0.00]M
202448 A ~2024F 10 £ D E 5K EHEHE LEE LS 0.00]F4/kWh
A: 1kIHT=Y O F R ih il 77,129 A 0.0000
B: 1tH1=YDTFHLNGIEE 92,099 M 0.0000 ~11kWhEL 2 B {f 0.000 M
C: 1tHT=YDEHE &M 22,606 M Ve 0.0000 12kWh ~ L £ B4 {fff 0.000
EHMREMER = Axa +BxB8 +Vxy =0H (100 REEEHA)
Q) BEI—/N\—Y LY —E RFEEIE= Bt & TR EHEE —0M) x EZEB{fi < 1,000 0.00} M /kWh
202448 F ~20244 10 A LD E S #FEHEE
A: kB T=Y DR mmE 77,129 H 0.0000 HAEBR 0.000 M
B: 1tH-YDTEHLNGIEE 92,099 M 0.0000
C: 1tHf=Y DEH A RME 22,606 M e 0.0000
EHETHREMEK=AXao +BX 8 +VXxy=0H (100 KEM@IER A)
Q) HNEHAREM=A<BDIGE. HEHFAZEM=(A—B)XDX(1+HERE) = 0.00JF9/kWh
A>COIGE. HENRABEM=(A—C)XDx(1+HERE) = 3.63|/kWh
A: BTADIYTTSAREHE-(1-18KFE) x FEER 11.30 BADIYTISAAEYIE 9.44
B: EITIAEEAEEE (Fiik) 4.00 P 8.1%
C: BIMFAEEEBH (Fiik) 8.00 REER 110%
D: BEIE 100%
@) FENHEEIBEE 0.00]F1/kWh

ULt
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BUADBIHEICEFTNOIRMEFHBEME. TELOD

DBEYEBHSELET

BT LRNT—

MBS RBEM=)RHNEREHEME QMBI =/\—Y )L Y —E XA E{E +(3)H1E H IR EE B

F/kWh

0.00

F/kWh

EAE B

0.000 M

+HERENHEHIBEE = Fiid
(1) BRHER B = (FHRBHEE —0M) x EAEE(Hi 1,000
202448 F ~2024F 10 A FH D E B sHil+E
A: 1KY O FH R im g 77,129 M o: 0.0000
B: 1t&H =Y DT HLNGIEE 92,099 M 0.0000
C: 1tH1=Y DA Fifhits 22,606 A Y 0.0000
EHREHEE = Axa +BxB +Vxy =0H (100K EFE R A)

() BEEI=N\—Y)L Y —E RFABE il = (B ST 198l 1% —0F) x E4EHi {1,000

20248 A ~2024FE 10 A FHDE S sHmE

0.00

FM/kWh

EAE B

0.000 M

A: 1KY O FH R im g 77,129 M 0.0000
B: 1t&H =YD FHLNGIEE 92,099 M 0.0000
C: 1td1=Y DFEH A R 22,606 M Y 0.0000
ST RFMER=AXxa +BXB +VXy=0H (100K EFE R A)

Q) HENFARZREM=A<BDEE. HEHFAREM=(A—B) XD x(1+HE&FZHK)
A>CODIGE ., ENRABEM=(A—C)xDx(1+HERZEK)

0.00

5.31

A: BTADIVTISARFEHE-(1-1843H) x HER 12.83
B: EJTIAEREEEM (Fiik) 4.00
C: BMFHEEAEEM (Fik) 8.00
D: #EEE 100%
4) REHEAIREE

MADIN7ZISAREYIE

BxE

3z

Ex

FM/kWh
FM/kWh

10.66

8.6%

110%

0.00

F/kWh
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